TR AOR (SFEA)

ER31E1A 181%E

B 4 T B B 4 5 g3 it
HHZEHT 0 0 0 |= RKHET 8 11 19
KiZHET 162 161 323 |#XHET 15 29 44
ESHET 2 1 3 [AEHT 2 3 5
=AHT 202 248 450 |FLLLIET 8 18 26
=81E 67 93 160 |71 SHET 10 8 18
5 R ET 2 3 5 |[fARHET 6 8 14
£ [EET 64 74 138 [EHT 14 19 33
T FHET 0 1 1 |[5:/T 22 28 50
JKATET 28 34 62 |fa/RET 0 0 0
& BHET 5 8 13 |TT & HT 230 220 450
YR AET 0 0 0 |58 0 1 1
4 / SERET 6 11 17 (Y& RHET 125 125 250
FFHEET 11 14 25 ||FE EHT 97 88 185
M HRET 2 3 5 |EHT 0 0 0
S ERET 8 13 21 |—faHT 5 2 7
YA HT 4 7 11 |<& /T 37 44 81
T 1 1 2 |RZIRHET 141 229 370
AN=1E1) 7 26 33 |FE;HAT 21 43 64
fBRHT 19 25 44
ARBT 14 12 26
E A<HET 0 1 1
o SR ZKHT 2 7 9
FTHT 5 15 20
EHT 3 5 8
e 22 17 9| & 1,377 1,656 3,033




